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Which two of the following are prerequisites for creating a branch rule for parallel development?
(Choose Two)
Response:

A. Create an access group that references the team application. Add developers to the access group.
B. Create a team application.

C. Circumstance the original rule.

D. Save a copy of the original rule into the base ruleset.

Answer: A,B

Which two approaches reduce the possibility of rule caching causing performance issues in your
application?

(Choose Two)

Response:

A. Classify the nodes in your system.

B. Add a ruleset to multiple application records.

C. Remove branch rulesets in your production system.

D. Only allow rule checkout for operators who need to work in checked out rules.
E. Create multiple access groups.

Answer: C,D

A connector is used to
(Choose Three)
Response:

A. Identify an outcome of a decision.

B. Indicate an automated action performed by the application.
C. Indicate an event handled by a user.

D. Identify the order of events in a process.

E. Indicate possible branches of a process.

Visit us at: https://www.certswar rior .com/exam/pegacpssa24vl



Answer: A,D,E

Why is application versioning important?
Response:

A. Application versioning provides the ability to clone rules.

B. Application versioning provides a means to organize applications by priority.

C. Application versioning provides the ability to version data classes without impacting existing data
classes.

D. Application versioning preserves prior application versions.

Answer: D

Data transforms are often used prior to and after invoking the connector. What is the purpose of the
data transforms?
Response:

A. Set authentication data for the request

B. Invoke parse rules on the connector response

C. Map data to the application data structure

D. Map data from the protocol-specific response format

Answer: C

Select two record types that are involved when configuring a production ruleset.
(Choose Two)
Response:

A. Organization
B. Access group
C. Work group
D. Application
E. Operator
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Answer: B,D

Which three of the following statements about activities are true?
(Choose three)
Response:

A. When an activity rule is appropriate, use the standard activities whenever possible.
B. Limit your activities to fewer than 15 steps.

C. You can not call an activity, from an activity.

D. Use the Log-Message method in the activity to add a message to the PEGA log.

Answer: A,B,D

Which three rule types can be reused through the use of relevant records?
(Choose Three)
Response:

A. Sections

B. Paragraphs

C. Data transform
D. Flows

E. Fleld values

Answer: A,B,D

Select the three true statements about the use of a BLOB field.
(Choose Three)
Response:

A. A BLOB automatically exposes properties for reporting.

B. A BLOB provides flexibility by avoiding the need for schema changes when the data model changes.
C. A BLOB can store an object of any size.

D. A BLOB allows an application to read or write an entire case in one database transaction.

E. Case data can only be stored in a BLOB.
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Answer: B,C,D

Question: 10

A requirement states that you must add a control that shows a list of book titles. The titles change on a
daily basis. The book records are maintained on a database. The control must show the most current
information. The organization schedules updates to the application on a weekly basis.

Which of the following configurations would you use?

Response:

A. Add a drop-down control and source the list using a data page.

B. Add a drop-down control and use a list of items in the control's property

C. Add a radio button control that identifies each employee with a button.

D. Add a drop-down control and source the list using the property that identifies the items in the list.

Answer: A
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